[ number of missing inner layers |
1g —| Entries 13193
E ' Mean 0.1277
r N Std Dev 0.3799
U S O O O s s
E " TEntres 13173
F : Mean 0.1285
N . Std Dev 0.3825
10724 L L
10’32— ----------------- .-.-.-..|
O] SESEASEE SR Ry NS SO SO S
S N I IS S S
10°E N
SR FRVPE FOPT PV PHYOL 9 WS WY POV PHOOE FOPOT O
= E :
o L
1.__..{.........*“ ................................
0955

mean hi

1 2 3 4 5 6 7 8 9 10

[ number of missing outer layers |
1 —| Entries 13193
E | mean 1.628
i : [stdpev 2.26
S O S S S —
E " TEntres 13173
F : Mean 1.63
o 1 [Std Dev 2.261
1072 e e Frosrreeergeeseeee
107 froseee froeeeees
10_45_ """""""""""""" e
S N e N
107 : :
o 1058} : e
8 : :
24 ‘\» :
1 S [ PO e B e S e
5 10

15 20 25

=—8== DQM_original_1000evt
=== DQM_fitted4_1000evt

20,
18
16
14
12

10F

<hits>vs n

N D O 00

Y : L,
------ o TR

SO TS T ——

Ratio

.

track n

10k

Entries 133002

............................... Mean 2.164
Std Dev 6.079

: |

Entries 133002

_____________________________ Mean 2.164
6.079

Std Dev

10°

10%E

10

=
T

E
c
[3}

—| Entries

Entrie:
. | Mean
“ 1 Lstd Dev

4 8 .
AL - - R

4. :

1T .

4 .

i

A
rd
+

il L

T r

4 r
-

0.950'

5 10 15 20 25 30 35 40
track hits

[ N of reco track vs pT |

Entries 15158
Mean 1.62
101 Std Dev 8.541
""""""""""""""""" AR |
Entries 15106
Mean 1.624
Std Dev 8.563
2 e
10 ;
] T R S S T
10
10—4 ...............................................
= A R I
10
o10% : :
© B .
o : ]
! HE TETIT Bil
10 10°



	Contents
	Page 1


